NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

Sl. No. 21

Schedule of Quantity, Unit, Rate and Amount for the work, "Flood Precautionary Measure (FPM) of Mohankhali Circuit Embankment from Ch. 5.00 Km to 12.00 Km along L/B of River Durbachati in c/w monsoon- 2017 in Mouzas- Nona narayanchack, Donga bhanga, Narayan chack & Kasinathpur in Block- Daspur- II, Dist. Paschim Medinipur under Ajuria Section of Ghatal Irrigation Sub-Division under West Midnapore Division."

Amount put to Tender:

₹ 1,79,256.00

Earnest Money :

₹ 3,585.00

Time allowed for Completion:

SI.	Description of Items	No. or	Unit	Estima	Amount	
No.		Quantity		Figure	Word	
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-incharge.	2100.00	sqm	₹ 7.70	Rupees seven and paise seventy only	₹ 16,170.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	1134.00	m	₹ 23.60	Rupees twenty three and paise sixty only	रु 26,762.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	756.00	m	₹ 6.30	Rupees six and paise thirty only	₹ 4,763.00
4	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	336.00	m	₹ 19.30	Rupees nineteen and paise thirty only	₹ 6,485.00
5	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	3250.00	each	₹ 5.00	Rupees five only	₹ 16,250.00
6	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	3250.00	each	₹ 6.30	Rupees six and paise thirty only	₹ 20,475.00
7	Extra rate in Sl. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres.			(₹ 2.30 x 5) =	Rupees elevan three and paise	
	5 (five) Extra Lead	3250.00	each	₹ 11.50	fifty only	₹ 37,375.00

SI.	Description of Items	No. or	Unit	Estima	Amount	
No.		Quantity		Figure	Word	
8	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge.	175.00	cum	₹ 138.90	Rupees one hundred thirty eight and paise ninety only	₹ 24,308.00
9	Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site.			(₹ 20.70 x 3) =	Rupees sixty two	
	3 (three) Extra Lead	175.00	cum	₹ 62.10	and paise ten only	₹ 10,868.00
10	SUPPLY OF LABOUR : Mazdoor	63.00	Per Day	₹ 206.00	Rupees two hundred six only	₹ 12,978.00
11	Supplying 500 C. P. incandescent lamp (i.e. Petromax daylight, Hasag etc.) on hire basis for 10 hours including supply of necessary fuel etc. complete.	21.00	each	₹ 134.40	Rupees one hundred thirty four and paise forty only	₹ 2,822.00

only

I / We do hereby agree to do the above work @	
Above / Less / At par than this Schedule Of Rates	attached herewith.
	(Signature of the Contractor)

NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

Sl. No. 22

Schedule of Quantity, Unit, Rate and Amount for the work, "Flood Precautionary Measure (FPM) of Dussaspur Circuit Embankment from Ch. 20.50 Km to 25.50 Km & 28.50 km to 29.50 km along L/B of Bhosra Khal in c/w monsoon- 2017 in Mouzas- Paikan Boalia, Jyotisab & Manikpur in Block- Daspur- I, Dist. Paschim Medinipur under Dussaspur- II Section of Ghatal Irrigation Sub-Division under West Midnapore Division."

Amount put to Tender:

₹ 1,92,912.00

Earnest Money:

₹ 3,858.00

Time allowed for Completion:

150 Days

SI.	Description of Items	No. or Quantity	No. or	Unit	Estimated Rate		Amount
No.			Quantity		Figure	Word	
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-incharge.	3000.00	1500.00	sqm	₹ 7.70	Rupees seven and paise seventy only	₹ 11,550.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	2430.00	1215.00	m	₹ 23.60	Rupees twenty three and paise sixty only	₹ 28,674.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	1620.00	810.00	m	₹ 6.30	Rupees six and paise thirty only	₹ 5,103.00
4	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	552.00	276.00	m	₹ 19.30	Rupees nineteen and paise thirty only	₹ 5,327.00
5	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	8646.00	4323.00	each	₹ 5.00	Rupees five only	₹ 21,615.00
6	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	8646.00	4323.00	each	₹ 6.30	Rupees six and paise thirty only	₹ 27,235.00
7	Extra rate in SI. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres.		0.00		(₹ 2.30 x 5) =	Rupees elevan three and paise	
	5 (five) Extra Lead	8646.00	4323.00	each	₹ 11.50	fifty only	₹ 49,715.00

Abstract of Cost

SI.	Description of Items	No. or	No. or	Unit	Estim	Amount	
No.		Quantity	Quantity		Figure	Word	
8	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge.	300.00	150.00	cum	₹ 138.90	Rupees one hundred thirty eight and paise ninety only	₹ 20,835.00
9	Extra rate in Sl. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site.	endert stärk sich	0.00		(\$ 20.70 x 3) =	Rupees sixty two and paise	j
	3 (three) Extra Lead	300.00	150.00	cum	₹ 62.10	ten only	₹ 9,315.00
10	SUPPLY OF LABOUR : Mazdoor	108.00	54.00	Per Day	₹ 206.00	Rupees two hundred six only	₹ 11,124.00
11	Supplying 500 C. P. incandescent lamp (i.e. Petromax daylight, Hasag etc.) on hire basis for 10 hours including supply of necessary fuel etc. complete.	36.00	18.00	each	₹ 134.40	Rupees one hundred thirty four and paise forty only	₹ 2,419.00

Total Amount put to Tender in word:

Rupees One lakh ninety two thousand nine hundred and twelve only

West Midnapore Division Irrigation & Waterways Dte. Paschim Medinipur

I / We do hereby agree to do the above work @	
Above / Less / At par than this Schedule Of Rates attach	ed herewith.
:	(Signature of the Contractor)

NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

Sl. No. 23

Schedule of Quantity, Unit, Rate and Amount for the work, "Flood Precautionary Measure (FPM) of Chetua Circuit Embankment from Ch. 57.00 Km to 67.00 Km along R/B of River Kanki in c/w monsoon- 2017 in Mouzas- Jodupur, Rajnagar, Ananda garh, harirampur, Gurli, Suratpur & Sitakundu in Block- Daspur- I, Dist. Paschim Medinipur under Ghatal Section of Ghatal Irrigation Sub-Division under West Midnapore Division."

Amount put to Tender:

₹ 2,28,373.00

Earnest Money :

₹ 4,567.00

Time allowed for Completion:

SI.	Description of Items	No. or	Unit	Estim	Amount	
No.		Quantity		Figure	Word	
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-incharge.	2100.00	sqm	₹ 7.70	Rupees seven and paise seventy only	₹ 16,170.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	1875.00	m	₹ 23.60	Rupees twenty three and paise sixty only	₹ 44,250.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	1250.00	m	रु 6.30	Rupees six and paise thirty only	₹ 7,875.00
4	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	420.00	m	₹ 19.30	Rupees nineteen and paise thirty only	₹ 8,106.00
5	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	3471.50	each	₹ 5.00	Rupees five only	₹ 17,358.00
	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	3471.50	each	₹ 6.30	Rupees six and paise thirty only	₹ 21,870.00
-	Extra rate in SI. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres.	0.00		(₹ 2.30 x 5) =	Rupees elevan three and paise	
	5 (five) Extra Lead	3471.50	each	₹ 11.50	fifty only	₹ 39,922.00

SI.	Description of Items	No. or	Unit	Estima	Amount	
No.	TO THE OF A POST CONTROL OF A SHOCK CO.	Quantity	Liber	Figure	Word	110000000000000000000000000000000000000
8	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge.	250.00	cum	₹ 138.90	Rupees one hundred thirty eight and paise ninety only	₹ 34,725.00
9	Extra rate in Sl. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site.	0.00		(₹ 20.70 x 3) =	Rupees sixty two	er.
	3 (three) Extra Lead	250.00	cum	₹ 62.10	and paise ten only	₹ 15,525.00
10	SUPPLY OF LABOUR : Mazdoor	90.00	Per Day	₹ 206.00	Rupees two hundred six only	₹ 18,540.00
11	Supplying 500 C. P. incandescent lamp (i.e. Petromax daylight, Hasag etc.) on hire basis for 10 hours including supply of necessary fuel etc. complete.	30.00	each	₹ 134.40	Rupees one hundred thirty four and paise forty only	₹ 4,032.00

Total Amount put to Tender in word:

Executive Engineer
West Midnapore Division
Irrigation & Waterways Dte.
Paschim Medinipur

three only

/ We do hereby agree to do the above work @	
Above / Less / At par than this Schedule Of Rates attached herewith.	
(Signature of the Contractor)	_

NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

Sl. No. 24

Schedule of Quantity, Unit, Rate and Amount for the work, "Flood Precautionary Measure (FPM) of Chetua Circuit Embankment from Ch. 35.00 Km to 40.00 Km & 41.00 km to 44.00 km along L/B of River Palaspai in c/w monsoon-2017 in Mouzas- Satpota, Palaspai Singhachak, Jote Gobinda & Panchberya in Block- Daspur- II, Dist. Paschim Medinipur under Ajuria Section of Ghatal Irrigation Sub-Division under West Midnapore Division."

Amount put to Tender:

₹ 2,37,422.00

Earnest Money:

₹ 4,748.00

Time allowed for Completion:

SI.	Description of Items	No. or Quantity	Unit	Estima	Amount	
No.				Figure	Word	
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-incharge.	2880.00	sqm	₹ 7.70	Rupees seven and paise seventy only	₹ 22,176.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	1608.00	m	₹ 23.60	Rupees twenty three and paise sixty only	₹ 37,949.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	1072.00	m	₹ 6.30	Rupees six and paise thirty only	₹ 6,754.00
4	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	464.00	m	₹ 19.30	Rupees nineteen and paise thirty only	₹ 8,955.00
5	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	4532.00	each	₹ 5.00	Rupees five only	₹ 22,660.00
6	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	4532.00	each	₹ 6.30	Rupees six and paise thirty only	₹ 28,552.00
7	Extra rate in SI. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres.	0.00		(₹ 2.30 x 5) =	Rupees elevan three and paise	
	5 (five) Extra Lead	4532.00	each	₹ 11.50	fifty only	₹ 52,118.00

SI.	Description of Items	No. or Quantity	Unit	Estima	Amount	
No.				Figure	Word	
8	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge.	200.00	cum	₹ 138.90	Rupees one hundred thirty eight and paise ninety only	₹ 27,780.00
9	Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site. 3 (three) Extra Lead	0.00		(₹ 20.70 x 3) =	Rupees sixty two	
10	SUPPLY OF LABOUR : Mazdoor	200.00	cum	♦ 62.10	and paise ten only	₹ 12,420.00
10	SUPPLY OF LABOUR : Mazdoor	72.00	Per Day	₹ 206.00	Rupees two hundred six only	₹ 14,832.00
11	Supplying 500 C. P. incandescent lamp (i.e. Petromax daylight, Hasag etc.) on hire basis for 10 hours includung supply of necessary fuel etc. complete.	24.00	each	₹ 134.40	Rupees one hundred thirty four and paise forty only	₹ 3,226.00
	Total Amount put to Tender in figure =		000000			₹ 2,37,422.00
	Total Amount put to Tender in word :	Rupees Tw	o lakh t		ousand four hund only	red twenty two

I / We do hereby agree to do the above work @	
Above / Less / At par than this Schedule Of Rates a	attached herewith.
	(Signature of the Contractor)

NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

5 (five) Extra Lead

Sl. No. 25

three and paise

fifty only

₹ 45,465.00

₹ 11.50

Schedule of Quantity, Unit, Rate and Amount for the work, "Flood Precautionary Measure (FPM) of Mohankhali Circuit Embankment from Ch. 29.00 Km to 35.00 Km & 38 km to 40 km along R/B of River Palaspai in c/w monsoon- 2017 in Mouzas- Chak Sultan, Rampur, Manua, Sitapur, Palaspai & Jote ghanashyam in Block- Daspur- II, Dist. Paschim Medinipur under Ajuria Section of Ghatal Irrigation Sub-Division under West Midnapore Division."

Amount put to Tender:

₹ 2,19,148.00

Earnest Money :

₹ 4,383.00 150 Days

Time allowed for Completion:

SI.		No. or Quantity	Unit	Estim	ated Rate	Amount
No.				Figure	Word	
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in- charge.	3120.00	sqm	ফ 7.70	Rupoes seven and paise seventy only	₹ 24,024.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7,50 cm diametre.	1392.00	m	रु 23.60	Rupees twenty three and paise sixty only	₹ 32,851.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	928.00	т	₹ 6.30	Rupees six and paise thirty only	₹ 5,846.00
4	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	416.00	m	रु 19.30	Rupees nineteen and paise thirty only	₹ 8,029.00
5	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	3953.50	each	₹ 5.00	Rupees five only	₹ 19,768.00
	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	3953.50	each	रु 6,30	Rupees six and paise thirty only	₹ 24,907.00
-	Extra rate in SI. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres.	0.00		(₹ 2,30 x 5) =	Rupees elevan	

3953.50

each

SI.	Description of Items	No. or Quantity	Unit	Estima	Amount	
No.				Figure	Word	A SHEET AND A
8	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-Incharge.	200.00	cum	रू 138.90	Rupees one hundred thirty eight and paise ninety only	रु 27,780.00
9	Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site.	0.00		(₹ 20.70 x 3) =	Rupees sixty two	
	3 (three) Extra Lead	200.00	cum	₹ 62.10	and paise ten only	₹ 12,420.00
10	SUPPLY OF LABOUR : Mazdoor	72.00	Per Day	₹ 206.00	Rupees two hundred six only	₹ 14,832.00
11	Supplying 500 C. P. incandescent lamp (i.e. Petromax daylight, Hasag etc.) on hire basis for 10 hours including supply of necessary fuel etc. complete.	24.00	each	₹ 134.40	Rupees one hundred thirty four and paise forty only	₹ 3,226.00

only

I / We do hereby agree to do the above work @.	
Above / Less / At par than this Schedule Of Rates	s attached herewith.
	(Signature of the Contractor)

NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

S1. No. 26

Schedule of Quantity, Unit, Rate and Amount for the work, "Flood Precautionary Measure (FPM) of Mohankhali Circuit Embankment from Ch. 12.00 Km to 22.00 Km along L/B of River Durbachati in c/w monsoon- 2017 in Mouzas-Brindabanchak, Shripur & Khukurdaha, Khukurdaha, Arkhana & Sahapur in Block- Kolaghat & Daspur-I & II, Dist. Paschlm Medinipur under Dussaspur-I Section of Ghatal Irrigation Sub-Division under West Midnapore Division."

Amount put to Tender:

₹ 2,40,528.00

Earnest Money :

₹ 4,811.00

Time allowed for Completion:

51.	Description of Items	No. or Quantity	Unit	Estim	Amount	
No.				Figure	Word	
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-incharge.	3000.00	sqm	₹ 7,70	Rupees seven and paise seventy only	₹ 23,100.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	1800.00	п	₹ 23.60	Rupees twenty three and paise sixty only	₹ 42,480.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	1200.00	m	₹ 6.30	Rupees six and paise thirty only	₹ 7,560.00
4	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	400.00	m	₹ 19.30	Rupees nineteen and paise thirty only	ক 7,720.00
5	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	3809.00	each	₹ 5.00	Rupees five only	₹ 19,045.00
6	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	3809.00	each	₹ 6.30	Rupees six and paise thirty only	₹ 23,997.00
7	Extra rate in SI. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres.	0.00	o 3	(₹ 2.30 x 5) =	Rupees elevan three and paise	
	5 (five) Extra Lead	3809.00	each	₹ 11.50	fifty only	₹ 43,804.00

	Description of Items	No. or	Unit	Estimat	ed Rate	Amount
SI.		Quantity	923000	Figure	Word	_
0	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge.	250.00	cum	₹ 138.90	Rupees one hundred thirty eight and paise ninety only	₹ 34,725.00
9	Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site. 3 (three) Extra Lead	0.00		(₹ 20.70 x 3) =	Rupees sixty two	
		250.00	cum	₹ 62.10	and paise ten only	₹ 15,525.00
10	The state of the s	90.00	Per Day	₹ 206.00	Rupees two hundred six only	रू 18,540.00
11	Supplying 500 C. P. incandescent lamp (i.e. Petromax daylight, Hasag etc.) on hire basis for 10 hours including supply of necessary fuel etc. complete.	30.00	each	হ 134.40	Rupees one hundred thirty four and paise forty only	रु 4,032.00

I / We do hereby agree to do the above work @	
Above / Less / At par than this Schedule Of Rates attached herewith.	
(Signature of the Contractor)	

NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

SI. No. 27

Schedule of Quantity, Unit, Rate and Amount for the work, "Flood Precautionary Measure (FPM) of Dussaspur Circuit Embankment from Ch. 0.00 Km to 1.00 Km and 1.50 Km to 10.50 Km along R/B of River Old Cossye in c/w monsoon- 2017 in Mouzas- Poshtanka, Janardanpur, Damodarpur & Srirampur, Fakirbazar & Kolmijorein Block- Daspur- I, Dist. Paschim Medinipur under Dussaspur- II Section of Ghatal Irrigation Sub-Division under West Midnapore Division.

Amount put to Tender :

₹ 2,41,724.00

Earnest Money :

₹ 4,834.00

Time allowed for Completion:

SI.	Description of Items	No. or	1	Unit	Estin	nated Rate	Amount
No.		Quantity			Figure	Word	Cinicalit
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in- charge.	3600.00	1800.00	sqm	₹ 7.70	Rupees seven and paise seventy only	₹ 13,860.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	3900.00	1950.00	m	₹ 23.60	Rupees twenty three and paise sixty only	₹ 46,020.00
3	Oriving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	2600.00	1300.00	m	₹ 6.30	Rupees six and paise thirty only	ড 8,190.00
4	Supplying, fiting, fixing with Iron nails, half split bamboo walling pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	880.00	440.00	m	₹ 19.30	Rupees nineteen and palse thirty only	₹ 8,492.00
	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	8100.00	4050.00	each	₹ 5.00	Rupees five only	₹ 20,250.00
	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	8100.00	4050.00	each	₹ 6.30	Rupees six and paise thirty only	₹ 25,515.00
1	Extra rate in Sl. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres.		0.00		(δ 2.30 x 5) =	Rupees elevan three and paise	
1	5 (five) Extra Lead	8100.00	4050.00	each	₹ 11.50	filty only	₹ 46,575.00

SI.	Description of Items	No. or		Unit	Estima	ted Rate	Amount
No.		Quantity		120000	Figure	Word	100545010-0
8	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge.	500,00	250.00	cum	₹ 138.90	Rupees one hundred thirty eight and paise ninety only	₹ 34,725.00
9	Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site.	500.00	0.00 250.00	cum	(₹ 20.70×3) = ₹ 62.10	Rupees sixty two and paise ten only	₹ 15,525.00
L.,	3 (three) Extra Lead	200.00	230.00	Cum	V 04.10	and pane terrorry	
10	SUPPLY OF LABOUR : Mazdoor	180.00	90.00	Per Day	₹ 206.00	Rupees two hundred six only	₹ 18,540.00
11	Supplying 500 C. P. incandescent lamp (i.e. Petromax daylight, Hasag etc.) on hire basis for 10 hours including supply of necessary fuel etc. complete.	60.00	30.00	each	₹ 134.40	Rupees one hundred thirty four and paise forty only	₹ 4,032.00

Total Amount put to Tender in figure =

₹ 2,41,724.00

Total Amount put to Tender in word :

Rupees Two lakh forty one thousand seven hundred and twenty four only

	The second of th
I / We do hereby agree to do the above work @	***************************************
Above / Less / At par than this Schedule Of Rates atta	ched herewith.
	(Signature of the Contractor)
And the second s	(Signature of the Contractor)

NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

Sl. No. 28

Schedule of Quantity, Unit, Rate and Amount for the work, "Flood Precautionary Measure (FPM) of Dussaspur Circuit Embankment from Ch. 11.00 Km to 20.00 Km along R/B of River Old Cossye & Durbachati in c/w monsoon- 2017 in Mouzas- Maheshpur, Kismat Kalora, Tatarkhan, Basantapur, Tilanda & Nizampur In Block- Daspur- I, Dist. Paschim Medinipur under Dussaspur- II Section of Ghatal Irrigation Sub-Division under West Midnapore Division."

Amount put to Tender :

₹ 2,28,915.00

Earnest Money :

₹ 4,578.00

Time allowed for Completion:

SI.	Description of Items	No. or	Unit	Estima	ated Rate	Amount
No.		Quantity		Figure	Word	
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in- charge.	2250.00	sqm	₹ 7.70	Rupees seven and paise seventy only	₹ 17,325.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	1822.50	m	₹ 23.60	Rupees twenty three and palse sixty only	₹ 43,011.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) [i] Where boats are not necessary	1215.00	п	क 6.30	Rupees six and paise thirty only	₹ 7,655.00
4	Supplying, fiting, fixing with Iron nails, half split bamboo walling pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	414.00	m	₹ 19.30	Rupees nineteen and palse thirty only	₹ 7,990.00
5	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	3833.00	each	क 5.00	Rupees five only	₹ 19,165.00
6	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	3833.00	each	₹ 6.30	Rupees six and paise thirty only	₹ 24,148.00
7	Extra rate in SI. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres.	0.00		(₹ 2.30 x 5) =	Rupees elevan three and paise	
	5 (five) Extra Lead	3833.00	each	₹ 11.50	fifty only	₹ 44,080.00

SI.	Description of Items	No. or	Unit	Estima	Amount	
No.		Quantity		Figure	Word	
8	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-Incharge.	225.00	cum	रु 138.90	Rupees one hundred thirty eight and paise ninety only	₹ 31,253.00
9	Extra rate in Sl. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site.	0.00		(₹ 20.70 x 3} =	Rupees sixty two	
	3 (three) Extra Lead	225.00	cum	₹ 62.10	and paise ten only	₹ 13,973.00
10	SUPPLY OF LABOUR : Mazdoor	81.00	Per Day	₹ 206.00	Rupees two hundred six only	₹ 16,686.00
11	Supplying 500 C. P. incandescent lamp (i.e. Petromax daylight, Hasag etc.) on hire basis for 10 hours including supply of necessary fuel etc. complete.	27.00	each	₹ 134,40	Rupees one hundred thirty four and paise forty only	₹ 3,629.00

Total Amount put to Tender in figure =

₹ 2,28,915.0

Total Amount put to Tender in word:

RupeesTwo lakh twenty eight thousand nine hundred and fifteen

only

I / We do hereby agree to do the above work @.	
Above / Less / At par than this Schedule Of Rates	s attached herewith.
	(Signature of the Contractor)

NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

SI. No. 29

Schedule of Quantity, Unit, Rate and Amount for the work, "Flood Precautionary Measure (FPM) of Chetua Circuit Embankment from Ch. 44.50 Km to 52.50 Km along L/B of River Old Cossye & Palaspai in c/w monsoon- 2017 in Mouzas- Uttar Gobindanagar, Banskhal, Kalora, Maheshpur, Kunjapur, Kolmijore & Paikan Durjyodhan in Block-Daspur- I, Dist. Paschim Medinipur under Dussaspur- I Section of Ghatal Irrigation Sub-Division under West Midnapore

Amount put to Tender:

₹ 2,24,949.00

Earnest Money :

₹ 4,499.00

Time allowed for Completion:

SL	Description of Items	No. or	Unit	Estin	nated Rate	Amount
No.		Quantity		Figure	Word	20496518
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in- charge.	2400.00	sqm	₹ 7.70	Rupees seven and paise seventy only	रु 18,480.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	1680.00	m	क 23.60	Rupees twenty three and paise sixty only	₹ 39,648.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	1120.00	m	₹ 6.30	Rupees six and paise thirty only	₹ 7,056.00
4	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	384.00	m	₹ 19.30	Rupees nincteen and paise thirty only	₹ 7,411.00
5	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	4127.00	each	₹ 5.00	Rupees five only	₹ 20,635.00
	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-In-charge.	4127.00	each	₹ 6.30	Rupees six and paise thirty only	₹ 26,000.00
	Extra rate in SI. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres.	0.00		(₹ 2.30×5)=	Rupees elevan three and paise	
	5 (five) Extra Lead	4127.00	each	₹ 11.50	fifty only	₹ 47,451.00

tion of Items ne earth by manually operated eyond the lead of 150 metres luding removal of jungle and a cost of excavation of earth in ing, transporting, unloading, ne or making embankments, ling all lifts, as directed by the love for each additional lead of the lead o	Quantity 200.00	cum	Figure 〒 138.90	Rupees one hundred thirty eight and paise ninety only	₹ 27,780.00
eyond the lead of 150 metres luding removal of jungle and lost of excavation of earth in ing, transporting, unloading, ne or making embankments, ling all lifts, as directed by the love for each additional lead of	200.00	cum	क 138.90	hundred thirty eight and paise	₹ 27,780.00
ove for each additional lead of					
	0.00		(8 20.70 x3)=	Rupees sixty two	₹ 12,420.00
	200.00	cum	€ 62.10	and paise ten only	0 12,420.00
door	72.00	Per Day	क 206.00	Rupees two hundred six only	₹ 14,832.00
ire basis for 10 hours including	24.00	each	₹ 134.40	Rupees one hundred thirty four and paise forty only	₹ 3,226.00
	cable only where the track/ e at site. zdoor andescent lamp (i.e. Petromax hire basis for 10 hours including etc. complete.	cable only where the track/ e at site. 200.00 72.00 andescent lamp (i.e. Petromax hire basis for 10 hours including etc. complete.	cable only where the track/ e at site. 200.00 cum 72.00 Per Day andescent lamp (i.e. Petromax hire basis for 10 hours including etc. complete.	cable only where the track/ e at site. 200.00 cum ₹ 62.10 200.00 Fer Day andescent lamp (i.e. Petromax hire basis for 10 hours includung etc. complete.	cable only where the track/ e at site. 200.00 cum ▼ 62.10 and paise ten only 200.00 For Day ▼ 206.00 Rupees sixty two and paise ten only 200.00 each ▼ 134.40 Rupees sixty two and paise ten only Rupees two hundred six only Rupees one hundred thirty four and paise forty only

I / We do hereby agree to do the above work @	
Above / Less / At par than this Schedule Of Rates attached herewith	. 3
	(Signature of the Contractor)

NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

SI. No. 30

Schedule of Quantity, Unit, Rate and Amount for the work, "Flood Precautionary Measure (FPM) of Chetua Circuit Embankment from Ch. 9.00 Km to 22.00 Km along R/B of River Rupnarayan in c/w monsoon- 2017 in Mouzas-Harispur, Shyamsunderpur, Jotkanuramgarh, Ranichack & Benai in Block- Ghatal & Daspur-II, Dist. Paschim Medinipur under Ghatal Section of Ghatal Irrigation Sub-Division under West Midnapore Division."

Amount put to Tender:

₹ 2,39,117.00

Earnest Money :

₹ 4,782.00

Time allowed for Completion:

150 Day

	Time allowed for Completion:	9	150 D	ays		
SI.	Description of Items	No. or	Unit	Estim	ated Rate	Amount
No.	3-Arenn Certificia et submitte et	Quantity	1,741007-1-17	Figure	Word	100000000000000000000000000000000000000
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in- charge.	3120.00	sqm	₹ 7.70	Rupees seven and paise seventy only	₹ 24,024.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	1560.00	m	₹ 23.60	Rupees twenty three and paise sixty only	₹ 36,816.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	1040.00	m	रु 6.30	Rupees six and paise thirty only	₹ 6,552.00
4	Supplying, fitting, fixing with iron nails, half split bamboo walling pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	364.00	m	₹ 19.30	Rupees nineteen and paise thirty only	₹ 7,025.00
5	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	3071.50	each	रु 5.00	Rupees five only	रु 15,358.00
6	Labpur charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	3071.50	each	₹ 6.30	Rupees six and paise thirty only	₹ 19,350.00
7	Extra rate in Sl. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres.	0.00		(ক 2.30 x 5) =	Rupees elevan three and paise	
	5 (five) Extra Lead	3071.50	each	₹ 11.50	fifty only	₹ 35,322.00

SI. No.	Description of Items	No. or Quantity	Unit	Estima	Amount	
				Figure	Word	0.0000000000000000000000000000000000000
8	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge.	325.00	cum	रु 138.90	Rupees one hundred thirty eight and paise ninety only	₹ 45,143,00
9	Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site.	0.00		(₹ 20.70 x 3) =	Rupees sixty two	
	3 (three) Extra Lead	325.00	cum	ক 62.10	and paise ten only	₹ 20,183.00
10	SUPPLY OF LABOUR : Mazdoor	117.00	Per Day	₹ 206.00	Rupees two hundred six only	₹ 24,102.00
11	Supplying 500 C. P. incandescent lamp (i.e. Petromax daylight, Hasag etc.) on hire basis for 10 hours including supply of necessary fuel etc. complete.	39.00	each	₹ 134.40	Rupees one hundred thirty four and paise forty only	₹ 5,242.00
	Total Amount put to Tender in figure = Total Amount put to Tender in word :	RupeesTv	wo lakh		usand one hundr	₹ 2,39,117.00 ed seventeen

I / We do hereby agree to do the above work @	
Above / Less / At par than this Schedule Of Rates at	tached herewith.
8-	(Signature of the Contractor)